	SNC 1D/1P

Conservation of Mass


Date: _____________
Name: _______________________

Purpose: 
Three reactions are performed where the mass of the

reactants and products are measured to see if mass

changes during a reaction.

Materials:  
three pairs of solutions  



      
-copper sulphate and sodium hydroxide




      
-calcium chloride and sodium carbonate




      
-lead nitrate and potassium iodide

balance

small test tube



rubber stopper 
Erlenmeyer flask

Procedure: 

1.
Make a hypothesis: How do you predict mass will be affected by


a chemical reaction?

_______________________________________________________

2.
Carry out the following reactions one at a time and fill in the


observation chart.

3.
Pour 10 mL of copper sulphate into the Erlenmeyer flask.  Half fill


a small test tube with sodium hydroxide.  Describe the reactants


in your table.

4.
Carefully, so the two solutions do not mix, slide the small test


tube into the flask.  The test tube should be placed so that it


rests diagonally in the flask.

5.
Place the stopper firmly in the flask.  Use a balance to find the


total mass of the flask and its contents.  Record this mass in the


"Mass of Reactants" column in your table.

6.
Tip the flask to mix the two solutions.  Swirl the flask so


that you do not break the small 
test tube.

7.
Measure the mass of the flask again and record the


 "Mass of the Products" in your table.  Describe the reaction 

and products in your table.

8.
Dispose the flask contents as directed by your teacher.


Wash the flask and test tube well.

9.
Repeat steps 3-8 for sodium carbonate and calcium


chloride.

10.
Repeat steps 3-8 for lead nitrate and potassium iodide.

Discussion:

1. 
For each reaction, explain how you know that a chemical


change occurred.

2.
For each reaction, calculate the change in mass.  To do


this subtract the mass of the products  from the mass of


the reactants.

3.
Compare the change in mass for each reaction.  Is your


hypothesis correct?

4.
State the Law of Conservation of mass (p.179): 

5.
List possible factors that might explain why the mass of


the products is not equal to the mass of the reactants.

6.
Solution A has a mass of 60 g.  Solution B has a mass of


40 g.  When they are mixed, a 
chemical reaction occurs


in which a gas is produced.  If the mass of the final


mixture is 85 g, what is the mass of the gas produced?

7.
When magnesium metal is burned in oxygen gas the


following reaction occurs:


magnesium(s) + oxygen(g) ( magnesium oxide(s)

If 60 g of magnesium is burned and 100 g of magnesium oxide is produced, how much oxygen is needed?  

Observations:

	Pair No.
	Names of Reactants
	Description of Reactants
	Mass of Reactants
	Description of

Reaction and Products
	Mass of Products

	1
	copper sulphate

and

sodium hydroxide

	
	
	
	

	2
	sodium carbonate

and

calcium chloride


	
	
	
	

	3
	lead nitrate

and

potassium iodide


	
	
	
	


